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Chapter 6

Logarithmic functions
Revision
11 Advanced
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Write eaeh equation in exponential form. Al 3 ) pally dalaall S|
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pn (8)5=(64)5
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@ (64)5 = (8)5
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Simplify expression




Write the expression as a single logarithm.
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Solve the logarithmic equation

logy x +logs(x — 2) = log, 15

@L x=-3,x=5

x =log5,x = log(—3)
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Simplify expression f_\J /_\,

41083 xz — 31083 x3
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Simplify expression /_\ /‘\

1
2logg(3x) — = logg(2x +1)
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Simplify expression

log, 15 + 6 log, x — §log2 X
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Simplify expression

3logs x — > log-(6 — x)




Solve the logarithmic equation

Inx+In(x—4) =In12
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Evaluate the expression




Evaluate the expression




Solve the logarithmic equation \ @iﬂ\ Ja
logs(9x) = logs 7 Hlogs(x + 2) 22 2% . %
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Solve the logarithmic equation m
log4(x2 — 5) = log4 10 + logy 2
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If the parent function is P o sall Sl Jiall Alal) alall

Sl Jall s L Lea

Find the equation of the graph

Sea0Qn 3 =

f(x)=log,(x+3)+1
f(x)=log,(x—4)+1
f(x)=log,(x—3)+1
f(x) =—-loga(x—3)+1




Determine the vertical asymptote of the function Allall sl o plal) ok o




Which of the following is equivalent to




Find the value of x makes the equation true dasnia 0N Aalaal) Jaad Al g x el 2a )

logy1(x% + x —108) = log4 24x
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Determine the domain of the function

y = log(x — 4)

.

L-4 >0
AoU

dlall Jlas 2as




|ldentify the value of k. Write a function for each graph
asitrelatesto f(x) = log x.

gx) = f(x) + k




In 1980, the population in one city Gl (gaa) A o) s (€ 1980 ale 2

R : .
was{ 10,851and in 2010 the Olull 2e HI€2010 ale 25 410,851
=% Jhadllea o 713,985 Ll i b
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population in the same city was |~
713, 985) Which equation models
the population of the city ¢ years
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y = 41085160.0184t j_]") A £ 9 - \1 | a% sl e
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y =02139856—0.018415
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Solve the logarithmic equation




Solve the logarithmic equation

Inx+In(x+2)=In63
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Simplify expression

N
7logs x — log3(6 — x)




Write the expression AUl sl S|
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Find the value of




Find the value of




Expand the following expression das g By gy Syl 1S
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